
１　−1010

２　
7x7x − 7y7y

6

３　5x5x − 2y2y

４　5 3 − 7

５　2a2a2 + 9a9a − 7

361

１　−2121

２　
5
6
x − 3

３　−12xy12xy12xy12xy

４　8 + 5 6

５　−8x8x + 4141

362

１　−2

２　3a3a − 4b4b

３　8y8y2

４　9

５　−15x15x15x + 1111

363

１　−5

２　5a5a − 6

３　3x3x2 − x

４　6 − 5

５　2x2x − 1

364

１　−2424

２　5x5x + 9y9y

３　4a4a + 3b3b

４　 2

５　2x2x − 1919

365

１　−3

２　5b5b + 2

３　8 + 7

４　3x3x

５　
7x7x + 5
1212

366

１　−3

２　6b6b3

３　4 − 2

４　9x9x + 3131

５　
11x11x11x − 1111

1010

367

１　1414

２　42ab42ab42ab42ab2

３　4

４　2x2x − 3434

５　
2
1515

x −
8
1515

(
2x2x − 8
1515

)

368

１　3535

２　8a8a − 3

３　7

４　5x5x − 1111

５　
7
1212

x −
7
1212

(
7x7x − 7
1212

)

369

１　4

２　12a12a12a2

３　3

４　9x9x + 1818

５　
1
6
x −

1
6

(
x − 1
6

)

370

１　−9

２　
11x11x11x + 5y5y

6

３　5x5x − 2y2y

４　3 5 − 6

５　2a2a2 + 11a11a11a + 2121

371

１　−3232

２　
7
1010

x − 4

３　−20xy20xy20xy20xy

４　1111 + 5 6

５　−4x4x + 4040

372

１　−5

２　6a6a − b

３　4y4y2

４　1717

５　−12x12x12x + 1111

373

１　−5

２　5a5a + 2b2b − 9

３　3x3x2 − x

４　7 + 3

５　−x + 5

374

１　−2828

２　5x5x + 10y10y10y

３　3a3a + 2b2b

４　 3

５　8x8x − 3333

375

１　−2

２　5b5b + 2

３　6 + 5

４　x + 3

５　
1313
1212

x −
1111
1212

(
13x13x13x + 1111

1212
)

376

１　−4

２　9b9b3

３　5 − 3

４　7x7x + 2929

５　
1111
1010

x −
1313
1010

(
11x11x11x − 1313

1010
)

377

１　1111

２　18ab18ab18ab18ab2

３　3

４　x − 2929

５　
1
2020

x −
9
2020

(
x − 9
2020

)

378

１　2424

２　5a5a − 2

３　5

４　8x8x − 2525

５　
1111
1212

x −
1111
1212

(
11x11x11x − 1111

1212
)

379

１　6

２　12a12a12a2

３　1

４　9x9x + 2222

５　
5
6
x −

1
6

(
5x5x − 1
6

)

380
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